9. .Draw Lewis structures for the following: (4 marks).
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10.  Give the formula, complete, and net ionic equation when aqueous-solutions of

AgNOs and (NHa):S are mixed together. Make sure you balance the equations
and give the state for each substance. (6 marks) «
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B) Give the corregti¢hemical name for each of the following: (1 mark each)
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5. A compound is analyzed and found to contain 3.66 % hydrogen, 37.8 %
phosphorus and 8.4 % oxygen. ‘What is the efhpifiéal formula'sftHe *
5)

wwed @MW

compound? (4 marks)
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